
1) 4/17 + 12/6

Answer: ____________

2)
Find the next three numbers in 
the sequence
27,30,90,93,279,282,846__,__,__

Answer: ____________

3) 2112.8 + 5146.2

Answer: ____________

4) 1756.5 + 2997.5

Answer: ____________

5) (8 x 66) / (8 x 3-5)

Answer: ____________

6) Convert the following fraction into a 
mixed number: 62/35

Answer: ____________

7) Convert the following mixed number 
2110/5 into an improper fraction.

Answer: ____________

8) (6 x 22) / (6 x 2-6)

Answer: ____________

9) An amount was decreased by 3% to 
$306.00. Find the original amount.

Answer: ____________

10) Simplify 9:76

Answer: ____________

Total: ___ / 10
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Answers:

1) 24/17 2) 849,2547,2550, 3) 7259 4) 4754 5) 11337408 6) 127/35 7) 23/1

8) 256 9) $296.82 10) 9 : 76
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